

$$1, f, 1, 9, 3, 14, 4 \sim n^2 + \frac{n(n-1)}{2} = \frac{3n^2}{2} - \frac{n}{2}$$

$$a_{10} = \frac{3(10)^2}{2} - \frac{10}{2} = 150 - 5 = 145$$

$$0, 3, 4 \sim \frac{n(n-1)}{2} = 55 \sim n(n-1) = 110 = 11 \times 10 \Rightarrow n = 11$$

$$5, 9, 3 \sim f_{n+1} \Rightarrow f(11) + 1 = 45$$

$$0, 4, 1 \sim f_n - f \Rightarrow f(11) - f = 4$$

$$5, 13, 11, \dots \sim \Delta n - 3 \Rightarrow \Delta(11) - 3 = 15$$

$$\frac{(-1)^n}{n} \sim a_n = (-1)^n \text{ کویکرتی جمله } , a_r = \frac{(-1)^r}{r} = \frac{1}{r} \Rightarrow \frac{1}{r} - (-1) = \frac{3}{r}$$

$$b_r = (-3)^3 - V(3) = -27 - 21 = (-48) \sim -48 = -24K + 22 \sim (-24 \div -48) \rightarrow K = 12$$

$$a_{10} - a_7 = a_7 + 3d - a_7 = 3d = 12 \rightarrow d = 4 \sim a_n - a_1 = a_1 + \Delta d - a_1 = \Delta d = \Delta(4) = 16$$

$$t_r = 7, t_r = 15 \sim t_r - t_r = t_r + 2d - t_r = 2d = 15 - 7 = 8 \Rightarrow d = 4 \rightarrow t_r = 7 : 4(r) + b \rightarrow b = (-1)$$

$$t_n = 4n - 1 \sim t_1 = 4(1) - 1 = 3, t_3 = 4(3) - 1 = 11 \sim 3, 11, \dots \quad b_n = \Delta n - 5$$

$$t_n = \frac{4n-1}{2n+3} \sim \frac{4n-1}{2n+3} < \frac{3}{2} \sim \Delta n - 1 < 4n + 3 \sim 2n < 13 \sim n < 6.5 \quad \text{اولی}$$

$$4, 9, 9, 4, 0$$

$$\begin{matrix} \rightarrow & \rightarrow & \rightarrow & \rightarrow \\ +3 & +1 & -3 & -4 \\ \rightarrow & \rightarrow & \rightarrow & \rightarrow \\ -3 & -3 & -3 & -3 \end{matrix}$$

$$\rightarrow A = \frac{3}{2}, c = 0 \rightarrow An^2 + Bn \rightarrow a_1 = \frac{3}{2} + B = 4 \Rightarrow B = \frac{5}{2}$$

$$a_n = \frac{3}{2}n^2 + \frac{5}{2}n \quad 3A + 5B = 3(\frac{3}{2}) + 5(\frac{5}{2}) = \frac{9}{2} + \frac{25}{2} = 17$$

$$a_r = 31, a_f = 41 \sim a_f - a_r = 10 \Rightarrow a_f - a_r = a_r + 2d - a_r = 2d = 10 \sim d = 5$$

$$a_r = 5(r) + b = 31 \sim b = 11 \sim a_n = 5n + 11$$

$$-4 = 4, -f, 0, \dots \quad a = 1 \quad c = (-4)$$

$$\begin{matrix} \rightarrow & \rightarrow & \rightarrow \\ 0 & +2 & +4 \\ \rightarrow & \rightarrow & \rightarrow \\ -2 & -2 & -2 \end{matrix}$$

$$t_1 = 1 + b - 4 = -4 \sim b = (-1) \sim t_n = n^2 - n - 4$$

$$n^2 - n - 4 = 5n + 11 \sim n^2 - 6n - 15 = 0 \sim (n-9)(n+3) = 0 \rightarrow n = 9 \vee \sim a_9 = t_9 = 45 + 11 = 56$$

$$\rightarrow n = -3 \quad \text{غیرممکن}$$